AvYoeig

MNapayovTtotroinon — Aoknoeig (2° uépog)

Aoknon

Noa opayovIomoGETE TIG TOPUGTACELS:

a. (x—1D%*(@-2B)—a+2p

B.  x3—2x%—9x + 18

y. 25x%2—vy%2—5x+y

6. x*—-2xy+y:—-1

. (a—2B)x*+ 6402 — a)

oT. a’?+9p%—6af +2(a—3p)+1

L x?(2x—1)+6x(1—2x)+18x—9



Avon
(x—1D?*(@—=2B) —a+2L =

= (x—1D*(a@—-2p)—(a—2p) =
=(@-2B)[x-1)*-1] =
—(@—2)(x—-1+1D(x—-1-1) =
= (a—2B)x(x — 2) = x(x — 2)(a — 2p)
x3 — 2x2 — 9x + 18 =
=x2(x—2)—9(x —2) =
=(x—2)(x*=9) =

=(x—-2)(x+3)(x—-3)



25x%2 —y?2 —5x+y=
=(6x)?—y?*=(Bx—y) =
= Gx+y)6x—y) = (Gx—y) =
= (5x—y)(5x+y —1)
x2—2xy+y?—1=
=(x-y)X-1=
=x-y+Dx-y—-1
(@ —2B)x% + 6428 — a) =
= (a—2B)x*—64(a—2B) =
= (a —2B)(x* — 64) =

=(@=20)(x -8 +8)



AvYoeig

oT. a’?+9p% —6af +2(a—3B)+1=
=(@a—-38)2+2(a—3p)+1=
=[(a-3p) +1]° =

= (a—38 + 1)

C. x’(2x—1)+6x(1 —2x)+18x — 9 =
= x?’Q2x—-1)—-6x(2x—1)+9(2x —1) =
=2x—1)x*—-6x+9) =

= (2x — 1)(x — 3)?




